



	Homework 1
	Short-Answer Questions
	1. (3 points) What is multiprogramming? (Tanenbaum, problem 1.2)
	2. (6 points) Name the layers of the THE operating system, and briefly describe the function of e...
	3. (4 points) Why was time-sharing not widespread on second generation computers? (Tanenbaum, pro...

	Long-Answer Questions
	4. (14 points) Protecting the resident monitor is crucial to a cor�rectly operating computer syst...
	a. Change to user mode.
	b. Change to monitor mode.
	c. Read from monitor memory.
	d. Write into monitor memory.
	e. Instruction fetch from monitor memory.
	f. Turn on timer interrupt.
	g. Turn off timer interrupt.

	5. (15 points) Some early computers protected their operating systems against destruction by plac...
	6. (20 points) Three conventions for communicating the arguments of a service call to the kernel ...
	7. (18 points) The classical batch processing system completely ignores the cost of increased wai...
	8. (20 points) In the example of virtual machines, with a compiler above an operating system abov...

	Extra Credit
	9. (5 points) In class I used CPU utilization to illustrate how successive generations made more ...
	10. (10 points) In MINIX, why is the CHROOT system call limited to the super-user? (Hint: think a...



